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1)  Expand and simplify (3x — 2)(2x — 4) iEI"""'%
[y T

2)

3)

4)

5)

Simplify 4v/5 + 2v/5

Find the gradient of the line 2y + 3x = —1

Work out the value of 3x2% + 2x when x = 4

Find the 100t term of 7, 2, -3, -8, ...



HB6.2 E‘_—"-E
1)  Solve, by factorising, x> — 4x — 21 =0 .-Iilfﬁll |

1
2) Evaluate 162 (i.e 16 to the power of a half)

3) Solve, and show on a number line, 7x — 4 > 5x + 3

4)  Workout 3.4 x 10* + 2.7 x 103

5) Find the gradient of the line joining points (3,2 ) and (5, 10)



HB6.3

1)

2)

3)

4)

5)

Expand and simplify (5x + 3)(3x — 2)

Simplify 7v/5 — /5

Find the gradient of the line2x +y =7

Work out the value of 4x2 — 3x when x = —3

Find the 100t term of 8, 3, -2, -7, ...



HB6.4
1)  Solve, by factorising, x> + 8x + 12 =0
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2)  Evaluate 972

3) Solve, and show on a number line, 2x —3 > 4x +5

4)  Workout 4.3 x 10° + 2.5 x 10*

5)  Find the gradient of the line joining points (—2,1)and (1, 13)
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HB6.5
1)  Expand and simplify (4x — 5)(3x — 7)
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2)  Simplify 7V5 — 6v5

3)  Find the gradient of the line 3x + 2y = 12

4)  Work out the value of 2x3 when x = —2

5)  Find the 100t term of 3.5, 5, 6.5, 8, 9.5, ...



HB6.6
1)

2)

3)

4)

5)

Solve, by factorising, x? + 2x — 24 =0 ﬁﬁ-ﬂz

1
Evaluate 9 2 (i.e. 9 to the power of—%)

Solve, and show on a number line, 7x + 8 < 4 — 3x

Work out 6.8 x 10> — 3.1 x 10*

Find the gradient of the line joining points (2,1 )and (0, 13)



	HB6_1 with qr
	HB6_2 with qr
	HB6_3 with qr
	HB6_4 with qr
	HB6_5 with qr
	HB6_6 with qr

